U5 Day 11 Review Day 2018.notebook November 27, 2018

Given the partial graph of function f shown below. Sketch the other half of the function in
a) if f(x) is even and in b) if f(x) is edd. Find f(-x) for each of the indicated points.

State the domain and range of each completed function.

1. Ewven 2. Odd

Demain: E s Sl Demain: [-5'5]
Range: El S} Range: F SISJ
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3. Draw a function with the following properties:

\4 Possi ble
a. Zeros of 3and -3 answer
b. Asx >0y > -00 f
¢. The graph is even \
» X
ll \
¥ =
4. Draw a function with the following properties: y s"bk
a. It passes through the point (-2, 3) A ” anS’Vef‘

b. Asx > -coy > -00 II ‘\\, 4
¢. The graph is odd y K
VA ‘
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Given the partially filled out table below for f(x), fill in the rest of the table based on the
function type.

7. Ewven 8. Odd
x|-3[-2]1]o]1]2] 3 x| 3]-2]1]o] 1]27]3:
y( 1?2 [ 70 [ 1] 1]72] 17 y | 18 Zizo| Z = -Ig

9. Even functions have symmetry across the y-axis. Odd functions have symmetry across
the origin. Can a function have symmetry across the x-axis? Why or why not?

If a graph is symmetrical w.I.t- the x-axis
— P15 Sy I 17
i+snota funtion. i.e.

Tple Fails  vert. \ine
Yest
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Determine algebraically whether each of the following functions is even, odd, or neither.
Check your answer using tables on your graphing calculator.

10. f(x) = 2x+1 1. f(x) = 2x +1

£Ex)=2(-X) | FEX)2 26X)
2 =%+ | = IX %)
not SOME . either same —even

not Opp
12, f(x) = 2x*+ x
£6x)= 26 X% (~x)
=- 2X3\ X
OPP — 00‘0|
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13.  The cubic x> + 7x° + 13x + 3 has only one rational zero, x = -3.
Use polynomial long division to show that the remainder is zero when dividing the cubic by x + 3.
Then use the quadratic formula to find the other two (irrational) zeros.

XZ +L+X —f—, AS)C{G a -
X+3) X 47X "+ 3X+3 X¥(X+3) ~ X+ 3X
XT3XT Yx (x+3)= X 12X
Yx=+13¥%
- U= 12X X +yx+1=0

ety bdoce- b =D =12

5 ~ 3 =243
—U+ I\
X= T2 3:
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3) (v (3 -1)
g (DD
9 (dxtD(\x—12x +9)

A ~0) (x- R=-L

73 é’;_:i"(’% Y Wk e
D §%,%453 2) %=

) do,du,Ess R0

o) {73,273
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Mame HFU Alg2cc
Date ~ Review Unit 5
1. shketch: y=2x®+4dx*-3 /
Find: .
Increasing: Ir‘mr '1-33]. {Oam) 5

Decreasing: [=].28,0) con (133, -03) @
Rel Min: _[0,-3)
Rel Max: _[-1. 33, — 3] : {0,-3)

2. Find the zeros of the polynomial, state the multiplicity of each. Sketch (including

the end behavior)
P(x) = x(x + 3P(x - 1) 7 M T/C
vegree: 3 2 [ T
End Behavior: w : 0 | C
_ L | C
Sketch: ‘? /—\C!/‘
-3 0 |
3 - 6: Factor completely
3. Bieext-x-2 4 1 -Bxt e 4
= IXE(x+2)-1(x+2) - (¥ )% 2-1)
< (3R-1)(%+2) (X-2)(% M 2)(XP-1) (x4 1)
5. 64x?+27 - ['LJr\,(ch){I[aXZ—IE}Gq) 6. (x-3F-(x-3)-6  LetUcK-3
0= 4 U*u-b
b=3 (U-3)(u+Z)

(¥-3-3)(x-3+2)
[%=-6)(x-1)
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7 - 10: Solve (Factor completely first)

7. x'-40x*+144:=0 B 2% -3x-10x+15:=0
(*-)(x*-3l) =0 X(2X-3)-5(1%-3) =0 -
(X-2)(X+2)(X-U){Xth) =0 (1-3)(x*5) =0 3,2[5 ]
=2 X2 =0 X=-b 2%3=0 X*5:0
ziz,ib} H’:E i %—- -
9. x-Blx=0 : 10. 3(x-1F-(x-1)-2=0 LETUu=X-
X(¥4-8)=0 Eﬂ“iﬁtff&} JuF-u-z =0 ﬂh:@
¥ (x=aj(x%-q) =0 3u*- m;zu 2=0
~2) = ufu-t +2[0-1)=
W{KHQJ(\-‘H&){K :’i} 0 ] {3{“_2 (u-N=0 Y- 2
')‘::O Kz-i-‘?_-‘_.g :{4‘3“0 X‘Shﬂ (3(?{ |~}+2){K | - |\,I :': Iz
| R (3%-1)(X-2)0 EELs:

11, Use Im?é division to find the quetient (C{(x)) and remainder (R(x)). Verify your
remainder with the remainder theorem. A5I1E

L _ A [}ﬁz} hELie
@iy = 6o X(X42)=X" 2%

x+g_)f£<:jﬁ:+3x_4_ | (y+2)=X+2
- Y2 43X @{‘K]'ZK“WF
~X-2X RIX) =l
X Dla)s 2l2)8l-1) 4 32)-4
X7 o 111 g )

Is (.x E)qudur' 2%+ By® e I - 47 Explain your answer.

NO. 1 w42 was afactor, +he remainder would be 0.

12. Given the palynami'ul P(x} = x* + «* + kx = 4, find the value of k such that x - 2isa

0= B+1k

Usmﬁ fmr value of k, find the r.-‘rhar factors of P, (either sketch or olgzbmlml( )
WL

A e S Too-naes
V)= ( ‘x+l}(1<-t1‘; £ ?1’@ 7 [ other facﬂ
5 (¥+1)(x42)

mgebmicalig

P(K) = (e I)(X-2)(x+2)
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